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AnaptameHT No. 31 Crtyawvo No. 32 Ctyavo No. 33 Ctyavo No. 34 AnaprtameHT No. 35 3N 301.91 m?
nometuenve | nog CTeHU | TaBaH | nomeLueHve | nog CTeHW |TaBaH | NomeLleHue | nog CTeHu |TaBaH | nomeLleHue | nog CTeHU | TaBaH | nomelueHve | nog CTeHu | TaBaH Anaprament No. 31 69.64 M2
1 TepakoTa narekc | natekc | 1 TepakoTa natekc | natekc | 1 TepakoTa natekc | narekc | 1 TepakoTa natekc | narekc | 1 TepakoTa naTekc | natekc Cryavio No. 32 42.74 M2
2 TepakoTa thasHc | natekc | 2 TepakoTa tasHc | natekc | 2 TepakoTa thasHc | natekc |2 TepakoTa dasHc | natekc | 2 TepakoTa dasHc | natekc Cryavo No. 33 42.72 M2
3 NaMUHMUpPaH NapkeT | naTtekc | naTekc 3 NaMUHUPaH NapkeT | NaTekc | narekc 3 NaMWHUPaH NapkeT | NaTekc | natekc 3 NaMUHUPaH NapkeT | NaTekc | naTekc 3 NaMWHUPaH NapkeT | NaTekc | narekc CTyI:lI/IO No. 34 42.25 MZ
4 NaMUHMPaH NapKeT | naTekc | natekc | 4 TepakoTa nartekc | 4 TepakoTa narekc | 4 TepakoTa natekc | 4 namMWHMpaH NapkeT | naTekc | naTekc AnapramenT No. 35 76.50 M2
5 Tepakota natekc 5 Tepakora narekc 06y YacTi 28.06 M2
Kopugop/ ctbnbue
1 [ rpanuTorpec [ natekc [ natekc




